9505BH

Parts Breakdown

V/rled,dbds

Lo
[an]

7 \@\%

o
s

VRO
% 4%@ 3 R 2

8/18/2010

Page 1 of 2



V/771i

Products with multiple versions are listed in subsiding order with the newest version on top not indented

T

@ooxlmm.hmm—\)a
+

/ |

b A A &

Part ID
911136-9
157393-7
221357-8
211088-7
341398-9
241509-5
511906-2
911596-5
681614-0
210025-8
211026-9
593136-7
153576-7
159283-0
263002-9
911188-0
664064-4
414553-7
682502-4
911111-5
651473-6
911133-5
414211-5
687002-9
911123-8
687637-6
856797-7
643550-8
191938-1
195008-8
415312-2
254002-0
961052-5
221356-0
962151-6
211106-1
253055-6
321786-6
443034-4
312998-2
911121-2
251259-4
134219-0
224361-6
224368-2
224378-9
224509-0
224566-8
224568-4
152490-4
782412-6
231223-1

Parts Breakdown

Part Name
P.H. SCREW M4X20, N9501B
GEAR HOUSING, 9505BH
SPIRAL B. GEAR 11, 9505BH
BALL BEARING 6000DDW, 9005B
PLATE, 9505BH
FAN 60, 9501N
ARMATURE ASSEMBLY, 9505BH
P.H. SCREW M4X70, 6922NB
INS. WASHER, 9031
BALL BEARING 627LLB, 4324
B. BEARING 627LLB, N9514B
FIELD ASSEMBLY, 9505BHZ
MOTOR HOUSING CPL.,9503BH
MOTOR HOUSING, N9501B
RUBBER PIN 4, HR2400
P.H. SCREW M4X60, N9501B
CORD (2X18X8 SJ), HR2400
REAR COVER, N9501B
CORD GUARD 8-85, HP2010N
P.H. SCREW M4X10, LS1011
SWITCH
P.H. SCREW M4X18, N9501B
SWITCH HOLDER, N9510B
STRAIN RELIEF, 9217SPC
P.H. SCREW M4X14, N9501B
SET PLATE, N9501B
NAME PLATE, 9505BH
BRUSH CAP , 9031
CARBON BRUSH 408 SET, 3901
CARBON BRUSH SET CB-408, KPO800OK
SWITCH LEVER, N9501B
WOODRUFF KEY 3, 9217SPC
RETAINING RING S-12, 9218PBL
SPIRAL B. GEAR 36, 9505BH
RETAINING RING R-32, 9005B
B. BEARING 6201LLB, 5007NB
F. WASHER 12, N9514B
SPINDLE, 9505BH
FELT RING, 9505BH
HOUSING W/O BEARING, 9505BH
P.H. SCREW M4X14, 9217SPC
P.H. SCREW M5X16, 9505BH
WEEL COVER ASS'Y
INNER FLANGE 82, 9505BH
INNER FLANGE 45, 9561CV
INNER FLANGE 45, 9005B
LOCK NUT, 9005B
LOCK NUT 5/8-45, 9561CV
LOCK NUT 5/8-45, 9005B
GRIP 36, 9227C
LOCK NUT WRENCH 28, GA7911
COMP. SPRING 6, N9514B

Page 2 of 2

Quantity

E A A A A A A A A A A DN A A A A A Aa A A A A A a N A, AN, AN AN, A, AN, A A A A A a N, A A A A AN

9505BH

8/18/2010



